#1700 BE (TRRKEIROHEE)

FHEES K%
1. MOMZPEIETRLURI V. 3. MO =ABEBDMEZRKRDIRI O,
1. 30° = 1. sin135° =
2. 135° = 2. cos(—30°) =
3. 180° = 3. tan60° =
4. 120° = 4. sin0 =
5. —90° = 5 cos.1 =
. = . 37r =
1
6. —225° = 6. tan —m =
4
3
7. sin Z’/T =
2. ROMEEHBIHETRLB IV, 8. sin <_§F> _
1
9. cos—m =
3 3
2. —m=
4 1
10. cos <—7T> =
4
3
11. tan—7m =
3
5
12. tan (—77) =
1 6
5. —=m =
4 T 12
4. 0138iA (0<6 < 5) 95, sinf = 3 DL E, cosl
6. —2m = D% KD X,
5. 0 128 (g <O<7)r¥5. sinf = g DEE cosd
DE % KD 7R X\,




